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[Total No. of Questions: 8 ] [Total No. of Printed Pages : 2]

ENroll No....cccvveeeininnnenn.
ME-1002
Diploma in Engineering—I Sem (Reg./Ex) & 11 (EX.)
Examination, March-2021
Engineering Drawing
ime: Three Hours

N\ Maximum Marks : 70
Note: Attem @nve questions. (Each question carries equal marks)

Q.1 Co@uct a plain scale to show metres & decimeters when 1m is
\ resented by 2.5 cm & long enough to measure up to 6 m.
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Q.2 Draw the projection of the following points on a common
reference line, keeping the distance between their projection 30

mm apart.

a) Point A is 20 mm below HP and 50 mm in front of the VVP.
b) Point B is in the HP and 40 mm behind the VP.

C) point C is 50 mm infront of the VP and in the HP

d) point D is 40 mm above the HP and 30mm behind the VP.
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a) tarse A HPE 20 fA#Y s 3iR VP & aresy 50 fAe g1

b) gige B HP & & 31X VP & ey 40 AT 8

c)  gC VPAINRHPHA S50 el gy

d  TdgD, HP & 40 f&A#T 3R VP & ey 30 TAAA B

Q.3  Draw the projection of the 70 mm long line PQ , situated in the
VP and in client at 30 degree to the HP. The end P of the line is
25 mm above the HP.
70 AT &€ ATseT PQ &7 T&TuoT, VP F 8 3R Fege T HP &
fore 30 f3aft 9x | afdrd &1 37a OY wardy & 25 AT IR

Q.4 A 60mm long line AB, has its end A at a distance of 20mm in
front of the VVP. The line is perpendicular to the VP and 40mm
above the HP. Draw its projection.
A 60 TAEY el Y@M AB, $HHT O VP o HTHA 20 fAHT dr gl wX &
s At & foIv ddad § 3R tgdr & Iw40 e §1 sTar
Hroterret 3T | \60

Q.5  Assquare plane with a 40mm side has its surface paral%@\d
20 mm above the HP. Draw its projections when, a
inclined at 30 degree to VP.
40 TRFAY & AU T T A HI Tdg %a’hzo
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Q.6 A hexagon plane with a 30 mm side has its surface parallel to
and 20 mm in front of the VP. Draw its projections, when a side
is incline at 45 degree to the HP.
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A square prism having base with a 40mm side and 60 mm height,
IS resting on its base on the ground. Draw its projection when
a) A vertical face is perpendicular to the VP.
b) All thtaéertical faces are equally inclined to the VP.
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Draw an ellipse of given length of major axis & minor axis as
100 mm & 75 mm.
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